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1. Dx+2=50L &, x*+y?0R/MlzkdD X,
Q) x+y+2z=1,x—=3y+4z=1Dt % x> +y2+2>DR/MaA%E KD X,

2. (D2 +y=8,x=0,y=0 D& ¥, xy DEAMH & F/IMEE KD X,
Q) (DL Z, x%?+4x?+y? DRKHE L R/MEZ KD X,

3. () 2w?2+y2=2D L &, A+y?DRAfE L R/MEZ KD X,
Q)x2+y2+2y=3D & T x?+2p2+6y DERAEL R/IMEZ KD X,

4. (Hx?+2+y?-dy+1 DE/IMER KD X,
Q) I=x=3,-1=y=4 0L 2, ()DOWAME L /IMEZ KD X,
B)x?+2xy+2p2 +4x-2y+ 1 DRIMEZ KD X,

5. H)x>0,y>0,xy=4D & %, 2x+y DR/IMEZRD X,
Q)x>0,y>0,2x+y=4D¢ X, xy DIRAEZKRD X,
(3) it - 1 - m X DM 12 DESHEEES & &, REORKEZ KD X,

6. ()x’+y?=4 D& %, 2x+y DKfE L R/MEZ KD X,
Qx+y=50L %, x*+4?DR/MEZRKD X,
B)x+2y+3z=7DL & x?+y?+2OR/MEZ KD X,

7. )x*-2y+y?=1DL & xy+x+y DERKNELF/IMEZ KD X,
Qx+y+z=2,x*+y?+z2=20 L ¥, P +y*+ OH/MEZ KD X,
QR) 1 2DEHAPLH 2 3ADEINx,y,z TH DI REHERICENT, x,y,z DHIP 6, RRIARKAH
18 TH2LE, MEHORKEZ KD X,

(1962 HHK)

8. x+2y=4,x-3y=-6,3x+y=12 %7z 3 & &, ROXDRAMEE R/IMEE KD X,

-1
(1) 2x +y @)x2+y? (3) h

9, (Dx2+xy+yr=1D&Z, y DERKEL H/MEZ KD X,
@ x*+xy+yr=10D&E, 2x+y ORAE L F/MEZ KD K,
B)x-2y-4z=-1,x+y?-322=5DL ¥ x-y-3z DmAELR/IMEZ KD X,



10. () x?+y?=1 D& Z x?+ 2y +3y? DEAME & F/IMEZ KD X,
(2Q)dx2+9?=36 D & T, 2x2+xy+ 4y DIRAME & R/IMEE KD X,

11.()4x2-8xy+ 10y2=1D & &, x2+y2 DKMl & F/MEE KD X,

(2) 1Sx=2,25y<4 DL %, 4Xf"+yy2 DEAMEE D &,

12. (1)3=x=4,-2=y=0D L T, xy+x-2p+1 ODRAfE L F/MEZ KD X,

Q)x,yBx+2y =24 ,x-3y =-6,3x+y=R%ZifiT LT b, TDEE, x?-y? DRAMAE & FH/AMEZ K
o X,

B)O=x=1,y=2,2=z=3 Vi Do, T2, ZDELE, x2+y>+z2-xy-yz-zx DER/IMEZ KD X,

13.-4=-x+2y=3 ,3=2x-y=6 DL &, x>-2y+ 22 DI AL BR/IMEE KD X,



